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14U/113/110(Set-1)

No. of Questions : 180
YYAl @ W 180

Time :2 Hours ] { Full Marks 450
WY ;2 goe | 1 [ qorfe: 450

Instruction :

Frdw .

Note:

This paper consists of Objective Type Questions and is divided into

Two Sections (I & I1) as under :

ﬁm-ﬁagﬁﬁdhunﬁmmﬂﬁa%ama’rwﬂu&m;m%aﬁh%

i forrr 8 |

(a) Section - I : Consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects.

) @O - 1 A 120 agRecm g qmA v, AERE e au #e el
Fram & = uw amnRa &

(b) Section - II : Consists of 30 Objective Type Questions on (1) Englsh
Languayge and (I1) Hindi Language.

@) @S - 11 ¥ 30 agfiEedE gem (1) a0 A affe an fE @ A R
amfia 21

The candidate is required to attempl as many guestions as he/she can of

Section-l, and Questions on ANY ONE of the TWO Language papors if)

English OR (I1) Hindi in Section - IL.

s @ afeE ¥ R @ve - | & lwRe we mw @ - 11 @ (D S

2 (1) R AT T B RFRE TE @ Fd W

(1) Each question carries 3 (Three) marks. One mark will be deducted for cach
incorrect answer. Zero mark will be awarded for vach unallempted
queston.
el 7 3 &ﬂﬂ)aﬁmﬁlmmaﬁ?émwﬁmmf
yole Safta weR 1 T gy E

(3} P.T.O
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{2} If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

afe vafas dofoas Iov A8 3R & fee ol & oY aeedn a8 ade 2

{3) Each question is followed by Four alternative answers (1), (2), {3) and (4).

One of these answers 1s correct. Select the correct and record il against the
relevant question in the ANSWER-SHEET by darkening the circle with
Ball Point Pen as per guidelines.
WEIE YR B AR AEead SR T ud & e (1), (2), () 3w () @ 9
IR M B 4R 4 Bedel UB ITR B WET B @Rl SR gAd qon IEd Ad
@ IWR-AEeT § gl 0w & ani Bdeger afie g9 (Merd) B 9
QfEve U9 gRI Tl 36 711w |

SECTION -1
g~

1. A worker may claim Rs. 15 for each km which he travels by taxi and Rs. 3 for

each km which he drives his own car. If in one week he claimed Rs. 300 for
travelling 80 km how many kms did he travel by taxi ?
T T FRiT g1 @ TE gm @ faw we 15 wfy R g s wrd @ ww g
® TG A H Bo 5 Wid FA B & A A oW W R 21 A gw g A
uE Ha A 80 fEl & a5 amn @ w@ wo 500 FoM fEW @ wemy B e 5w
arr & fom ) g fo feefer @ o= # 7

(1} 10 (2) 20 {3) 30 {4) 40

2. In a group of cows and hens, the number of legs are 14 more than twice the
number of heads. The number of cows is
T g JAA @ v wgE A g N A wewm @@ R A w8 Qg4 A 1
Tl 2| O IR A wa Tl @ Hear @
(ty 5 2y 7 (3} 10 (4) 12

3. In 2 chess tournament each of six players will play every uther plaver exaclly
once. How many matches will be played during the tournament 7

UF e it o fgerfadt @ @ e arg 0 feonfydl A @ uee @
A UF GR W) 39 TR TR § e B 89 2 2

Elalg (2) 15 (3} 30 (4} 36

4
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If the sum of two numbers is 15 and the sum of their rectprocals is 3/10, the
numbers will be -

&l méh&% B AT 15 R AR I T FGoHR e 30 BO@ 2

(1) 4,11 (2) 69 {3) 87 {4y 10,5

Find the odd one from the following :
frea 3 W@ 317 2 7
(1) 16 (2) 80 (3} 64 (1) 36

H5=4=15 7x8=4%and 6 x 5= 24, then what willbe 8 x4 =7
o 5x2=15 7x8=49 AT 6x5=24 & &l §x4 B ¥H &N :
(1) 24 {2} 28 {3} 32 {4} 36

If the probability of a problem being solved by two students is ¥ and ¥,
respectively, then the probability of that problem being solved is

ot <1 et & BN US W @Y gl wR U &) Wi e W e A fL
IO U¥E @) B o0 AT @ wifdea grly

2 3 1 1
1y = 2} o= 3) o= 4] —
(1) 3 (2} 2 (3) 3 (4) 5
Choose the missing number from the given series - 3,9, 27,81, ... 7
EARGE A B B g¢ T gasy - 3,9,27,81, .7
(1) 162 2y 210 (3) 243 {41324

POPULAR is coded as QPQVMEBS, then the code of GBNI'VT will b

4ff POPULAR @& @z QPQVMBS &8 o1 GBNPVT @ 3Z &m

{1) FAMOSU (2} FAMOUS (3) FASOUM (4) FOSALIM

If Room is called Bed, Bed is called Window, Window 15 called Flower, Flower
is called Couvler, then on what would a man sleep ?

{1) Window {2) Bed {3} Flower 4] None

A BR @ ek wE A e @ Ragd wE T R Reed B ohed BRI
FN 2, B W T dE o & @ @ e w e

(1) Rasw (2) fawr (3) ®A (1) ad
(5) P.T.O.
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11.

12,

13.

14,

A man said 1o 2 woman "Your mother’s husband's sister is my aunt”. How is
the woman related to the man ?

{1} Daughter {2) Granddaughter(3) Sister {4) Aunt
UF R A UE ooften | @EL amud i W B oafy ) wew 89 e 2 9@
HIREAT Bl W & @ Ry @ ?

(1) A B (2) urdt & (3) 987 @ (4} T @

[t Q is the brother of R, P is the sister of , T is the brother of §, § is the
duughlter of R, whe are cousins of Q 7

{l) Rand P {2y Band T (3) Qand T (4) Sand T

T Q MEBARFMPWALQ A THE LS H SINAIRA o Q @
TR /TR AT/ qEA B E 7

{1y Raar P {(2) Baen T (3) Qae T {4y SAM T

1115 Apples and 20 Oranges cost as much as 20 Apples and 15 Cranges, how do
vou compare Lhe cost of two ?

(1) Apples are as costly as Organges

(2) Oranges are more costly than Apples

{3) Apples are more costly than Oranges

(4} Given data is inadequate

A% 15 W9 T 20 WX B Frra g & ¥ e R 20 99 qer 15 e o, T
A W AT W) T 9 5 wew e ?

(1) ¥g ga=1 qa01 & Raar 5 w5

(2} ¥ ofdw AN £ a9

(3) ¥4 Ho3t ¢ xfds aEt 2

(4) T M fRawey sprata &

L have a few sweets to distribute. If [ keep 2.3, or 4 ina pack, I am left with one

sweet. If I pack 3in a pack, I am left with none. What is the minimum number
of sweets [ have to pack and distribute ?

G El ?%Tgmﬂ;im#r E§T| Jﬁfﬁéﬁ 3 Hzral 4;‘1 wq_;ﬂgié& FmT ot T e
T | 5 B UH H YW E 1 T4 ez @ =g1a7
HE A R TSR H v m-::-’ﬂb afed & e *

(1} 25 (2) 37 (3) 54 (4} 65

(6)
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16.

17.

18.

19.

20,

14U/113/10(Set-)

A bag contains 4 white and 6 red balls. Twe draws of one ball each are made
without replacement. The probability that one is red and the other is white is :

F A T 4 UBE T 6 TE T E| UF UF Fd 8 R BT arus @ T e

W 2| TO TE @ guifedr f ue e AT awn g e Bl &
4 6 R . 10
{UE lea {S}E E‘UTI-S‘

Two dices are thrown simultanecusly. The probability of obtaining a total score
of Bis:

ﬂm[wmn”]?ﬁﬁmmﬂtﬁwm%lﬁmﬂﬁm%ﬂﬁqﬁﬁmﬁm
.

n - @ - ® 5 @ —
Today is Sunday. After 50 days it will be ?

{1) Wednesday (2) Friday (3) Monday (4} Saturday
a1 AR 2| 50 37 % 9 '

(1) TR (2) FaR (3) W (4) wiwar

How many days are there from 3rd February, 2013 to 9th june, 20137

3 wRad, 2013 91 9 o, 2013 ® Sm T fRm € 7
(1} 152 (2} 14 {3) 130 (4) 127

Ashok goes 30 meters North then turns right and walks 40 melers, then again
turns right and walks 40 metres. How many metres is he away from his original
position 7

{1) Om (2) 10m (3 20m {4) 40m

S TR e ¥ 30 Hex uern 2 f gy aRd oR gEew 40 e awa R
gamagafﬁafmgmﬂmtﬁaﬂam%_agmmﬁmﬁuﬁmﬁaﬁ?%?

0w (2) 10 % (3) 20 A (4) 40 =
324 - 162 is the same as :

(1) 64:36 (2) 2:1 (3) 22:10 (1) 134:112
324 - 162 TH UER & O -

(1) 64:36 )71 (3) 22:10 {4y 134:112

(7) P.T.O.
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21.

22,

23.

24,

23,

26.

Who, among the following is popularly known as, “Frontier Gandhi" ?

(1) Feroz Gandhi {2) M. K. Gandhi

(3} Lala Lajpat Rai (4) Khan Abdul Caffar Khan
e 4 5 58 v wu ¥ wieoy - w81 Frar & ?

{1y forerer Td (2} THo e TR

(3) W AU I (4) W g TEER T

The boundry of which Indian State does not touch with that of Chhatisgarh ?
(1} Jharkhand (2) Bihar (3) Orrisa {4y Ulttar Pradesh
AR & fF| e & H i ¥ T8 Aed 2

(1) WEvs (2) e (3) Iren (4) ST g
The world Literacy Day is celebrated on :

{1} 8th September (2) 5thJune

{3} 15th August {(4) Sth September

fora weRr frre 7=y S 2 -

(1) 8 faamw # (2} 5 5 &

(3) 15 3Ty W (4) 5 Ry =1

The Planet nearest to earth is

(1) Mercury {2} Venus {3) Mars (4) Neptune
gt & Had T9dte Uw 2

(1) (2) I (3) e (4) =g
[C chips used in computer are made of :

{1} Lead {2} Silicon {(3) Chromium {4) Gold
TR A ggem B aidt IC Rio e o e 2 0

(1) ¥rem (2) faférsmm {3) ®ftrem (4) wt

Sachin Tendulkar and C.N.R. Rao have been awarded Bharat Rama in the year:
?ﬁmﬁﬁaﬁmﬁoﬁomnmmﬁwmaﬁmﬁﬁ}maﬁﬁaﬁn g7
1y 2010 {2} 2011 (3) 2012 (4) 2013

(8)
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.
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The number of countries which are members aof Waorld Trade Organisation
(WTOQ) presently is:

fres TR TR (Sago Do o) B GTw 2 A HEw gIEE A 2
(1) 160 2) 150 (3) 140 (4) 136

Who among; the following recipient of Bharat Ratna, is associated with Varanasi ?

(1) Ustad Bismillah Khan : (2) Pandit Bhimsen foshi
{3) Pandit Ravishankar (4) Dr. Rajendra Prasad
WIRE T O 9T @rfaeal o & [FEET T4y aeoR) ¥ w2 v

(1) s=e fefsemeg @ (2) ufga 2= o

(31 dfga fawee (4) Efo WG TAR
Which is responsible for Acid rain ?

(1) Carbondioxide {2) Chloroflorocarbon
(3} Sulphurdioxide (4) Hydrocarbon
ErerffaT % @ @ ane Tt @ farg Riser & ?

(1) PEASEHTTEES (2) FARTAREEA

(3) FeHRgTEATAES (4) EELHEA

A group of 1200 persons consisting of captains and soldiers 1s travelling in a
train. For every 15 soldiers there is one captain. The number of captains in the
group is:

12mmﬁﬁmwﬁmwﬁﬁﬁmﬂﬁ%ﬂa%ﬂm@fﬁmmﬁ
¥ g 15 AR &% Te T 2| 59 T % e ) " R o

(1) &5 (2) 80 (3} 75 (4} 70

Arrange the following in a meaningful sequence : -

{a) Consultation (b} Iliness

{c) Doctor (d} Treatrment
(e Recovery

(1) b,c,a,d, e (2} b.c.d.a, e

(3) d.c.a,b, e 4) e.a,d,.c.b
{9) P.T.O.
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37.

38.

39,

40.

a1.
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A, B, Cand D are playing cards. A and B are partners. [ faces towards North. If
A faces towards west, then who faces towards south ?
ABCHMRDIWa I EA WL A I B TEER 81 D Iow f@zn & 3 2
afr aAcfrem oSt s e st R FHr air e & °

{1} B (2) C Ay B i4) A
Nehru Gold eup is related to :

(1) Hockey {2y Cricket (3 Polo {14} Football
AEE e T FEAT 2

(1) EFE A (2) frde & (3) orel 9 (4) TR
Heating of water in a kettle is an example of

{1) Convection {2) Canduction

(3) Radiation {4) Condensation

Trelt # O @ T AT IRTER €

(1) HIeA &I (2) ATAA B

(3) Rfto & (4} F[IAA

Richter scale is used to measure -

{1} Speed of wind {2) Intensity of earthquake
(3} Depth ol sea (4) Temperature of body
figey who & wanT g 2

(1) arg @ Tl 7§ (2} WFE F A A A
(3} WHE B TERE A H (4) TRR & aAvHE AT H
Wha among the following saints wrote ‘Bijak’ ?

{11 Kabir (2} Ramdas

{3) Tuslidas (4) Guru Anpun

Prefefan @t § | fawe fi|e forar oan 7

(1) @M (2) NHETE

(3) gorditer (4) To AT

'World Environment Day’ is observed on :

{1) November 9 (2) September d

(3) July 3l (4) June5

v yafayey few wATT o @

(1) TR 9B (2) fomr 4 &t

(3) TS 31 P (4) 51 5%

(11) P.T.0
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42,

43.

44,

45.

4hb.

47.

48.

Which was Lhe first newspaper published in India 7

{1} Bengal Gazette (2) Bombay Samachar

{3} Bengal Chronicle (4} The Hindu

AT @ FHIT &1 arell 9ue @HER U= @iE-ay ar ?

(1} T Taie (2) =vag AR

() & wiftwa 4y © e,

Kolar mines are famous for :

{1} Dhamond {2) Gold {3} Plalinum (4) Silver
TN B w s forg Ay & 7

{1) € (2) w7 (3) @ {4) difr

Mata tila multipurpose project is located on ¢

{1} Sonrnver {2} Ken river {3} Belwa river (4} Yamuna river
el fefl agseddig ofdmraar fog 2

(1) ¥F T2 7 (2) @7 T ug (3) Agar T @ (4) @ A @

First nuclear energy planl in India was established in :

(1) MNellore {2} Kalpakkam {3} Bengaluru {4) Hyderabad
ARA H gU TR Fa w03 FE e gen e ?

(i) "R (2) ®TATFHH (3) e {4) Eewmarg
Which of the following is the leading producer of Chromium in the Waorld ?
(1) UsSA (2) Russia (3) Norway {4} China

Rree & metfes = aoes 2w 2

(1) GoTwHoye (2) =4 (3) = (4) @4

Which is the most important instrument in weather observation ?

(1) Clinometer (2) Radiograph (3) Barometer (4} Dumpy level
A qiee W WaR WETT SUBIe wiq 2 P

(1) JoTEAtRes (2) fedmm, (3) danfres (4) = e
The trade winds are :

(1} regular {2) partially irregular

{3} irregular (4) seasonal

4 (Heod =R o i

(1) e (2) ¥ R

(3) 30 (41 Ferf

(12)
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21.

52.

53.

54.

55.

Hurricanes and Typhoons are :

i1 Calm
i g ZreeA £
(13 ¥

() Violent

2) few=s

{3) Weak

(3) FHAR

14UM1310(Set-Il)

(4} Stromge

{4} ‘;iﬂéj‘ﬁ

During which period of the year does the earth receives more solar energy 7

{1) January

{2} March

{3) June

T 3 Ry wHa gedt weaifts @ ol we wed) & 7

{1} a4

(2) =

3) 7

{4y Octoboer

(4} ¥R

Which 1s the single constituent of air comprising more than 7% of volume ol

dry air ?
(1} Oxygen
(1) Carbon dioxide

(2) Nitrogen
{(4) Ozone

q% PIA-T1 ged & A 70% YF T B AR TTI Hear & 7

(1} a1

{3y A FgaliqaTse

(2} "EEr
(4} 3=

Which planet is known as morning star ?

{13 Mars

{2) Mercury

(3) Jupiter

HE.| Ve AN w1 aNT # TW W A AT E 7

{1) H

() g4

Which planet is known as Blue planet ?

(1) Earth

(2) Mars

(3) e

(3) Uranus

FHH TE NS T ® A" | AT AT 8 P

(1) gt

(2} AITA

Whe propounded Big Bang theory 7
(1) George Lamenter

(3 Quiper

frr &7 Ry ey R

(1) =t s
{3) T

Who gave gaseous hypothesis ?

(1) Chamberlin

{2} Kant

i gftmeudr fras B em ?

(1} trerfem

(2) &<

(13)

(3) T ()

{2} Raschjen
(4) Autoschmid

(2) TRINT
(4) 3feHTTs

(3) Laplace

{3} =r<ITH

{4) Venus
(4 IF

{4) Neptunse

(4) oI

(1) Rasel

{4) Tt

P.7.0.
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56.

57.

58.

59.

&0.

61.

Which planet is known as red planet ?

{1} Venus (2) Tupiter (3 Mars {4) Uranus
HIA-HT T2 AE TE D A N AR AR ?

(1) o (2) gewfa (3) =T (4) S (L)
Which one of the following country is largest producer of Sugarcane ?

(1) India {2} Cuba {3) Brazil (4) USA
i 2o # = 31 TR g 9T &

(1) e (2) =g (3) #rh {4) go U0 To
Largest producer of Wool in the Warld is :

(1) New Zealand (2) Canada {3} Australia {4) Argentina
frea % & 1 st SoomEs 2w 2.

(1) =goitete (2) FAI= (3) M=o (4} 3RARSar
Which of the following is rot a primary activity ?

{1} Agriculture (2) Fishing

(3) Mining (4} Infrastructuring

freaifen 8 @ =9 1 mufts afttes Braeeam 78 & 7

(1} ofd (2) AeETET

(3} @=A (4) fafystor

Which of the following grassland is not best for Wheat cultivation ?

{1} Downs (2) Prairies (3} Savanna (1) Steppes
e o & et A @ @ R D oy g smuge £ 7

(1} =94 (2) dwa (3) HgmET {4) =¥
Major pulses producing State in India is :

(1) Uttar Pradesh. (2] Madhya Pradesh

{3} Maharashtra : (4) Rajasthan

WIRT ¥ TEEA] B Had TEayrl Swres vy @

(1) 9=¢ wew (2) "7 uw (3) WewTS (4) TR

(14)



62.

67,
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Demographic transition theory was given by :

(1) J. Clark (2} G. T. Trewartha

(3) F.W. Notsteen (4} ].].Spengalar

SHIfReT FhEAer firgra o1 afea oy o

(1) o FH I (2) Mo &o Framrt A

(3) Tho Fso AT A (4} So Fo WY A

Who has given the optimum population theory ?

(1) Darwin {2) Malthus {3) Dalton (4} Henry
FIRATH e g 3 pads s o9 7

(1) =ifd= (2) =meery (3) Sheed (4) &1
Country with highest fertility rate in the World i3 :

{1) Somalia {2) Yemen (3) Uganda {4) Mali
faer ¥ watfires us== gz g 2w R

(1) =rferar (2} a8+ (3) FeT (4) AT
What is the Indian population growth rate during the decade 2(H11-2011 ?

WRA B q¥eg A gfg T 2001-2011 @ =9IE ¥ gy eft ?
{11 24 Ba% (2} 25.B0% (3 17.64% (4) 19.12%

According to Census 2011 which State of India has maximum population after
Uttar Pradesh ?

(1} West Bengal  (2) Maharashtra  (3) Bihar i4) Tamil Nadu
WA 2011 B SER WRG @ f5E W @ TN IR WE¥ @ N1 HE

¥ers € 7

(1) s € {2) "ERT (3) f=r (4) dftrerrg
In [ndia mangroves forests are found in :

(1) Malabar Coast (2} Sunderban

{3) Runn of Kutch (4) Coastal Orissa

weg # AR 59 U W E

(1) AR ag (2) F=vdd A

(3} F2O & A A (4) T I A

Which of the following places in India has Uranium deposit of great econormic
importance ?

{1) Tharia (2) Keonjhar (3) Singhbhumi (4} Silliguri
e & frm vum W e gfe A #wewgel @fEw o e # 2
(1) FRa (2) TR (3) Rieqta (4) R

{15) P.T.C.
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69. Which of the following is fresh water lake ?

(1) Pholidi {2) Koleru {3} Sambhar {4) Pullicut

frrferfiae & @ 98 A3 ol & Pra 2 °

{1) ured (2) &S (3) PR (4) gefime
70.  The tropical Savanna type of climate is typically located between :

(1) 5°-50° Latitude {2) 5°- 40° Latitude

(3 3° - 30° Latitude (4) 3°-20° Latitude

I FEE DR B Aoy A e ey o ah 2 °

(1) 5° - 50° & (2} 5°— 40° s

(3) 5° - 30° e (4) 5° - 20° 37w
71. Which of the following does not contribute to Global Warming ?

{1) Nitrogen Oxide (2) Methane

{3) Carben dioxide (4) Sulphur dioxide

frafafiga 4 & a5 ypvedhn som 4 dveEm F#F @ ¢

(1} FRgom wieage (2) M=

(3} T BEAFARE (1) TR BIGHIGASS

72.  The disease Beri-beri is due to deficiency of :
(1) Vitamin A {2} Vitarnin B (3) Vitamin C (4} Vitamin
WA A e S s aamd e
{1} fem g (2) fef= & (3) faerfim & {(4) farefis &

73.  Which of the following is an endocrine disorder ?

(1) Asthma {2) Arthritis (3) Hepatitis f4) Diabetes

F= A & #al w smwe dmrd 2 v

(1) s (2) RuTERy (3) fedesfew (4) safdd
74, Malaria is caused by biting of :

(1) Male culex (2) Female culex

{3) Maie Anopheles (4} Female Anopheles

werear far Awmx @ B § Brar 2 7 :

(1) R Fgeed (2) W= FoieE

(3} R e (4) #Ava1 TR

(16)



75.

76.

78.

79.

31,
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What is the cause of Dengue fever ?

{1} Virus {2) Fungus (3) Bacteria {4} Protoroa
I TR {HEd gy e & 7
(1} amH (2) ®1H (3) T (4) R

The communicable disease that has been fully controlled by a national
Programrne is

(1) Malaria (2) Tuberculosis (3) Smallpox {4} Filana
v wfE I G e A @ st ot wu A Prafe R wr g 2
(1) s (2) oafed (3) e died {4) wTEA
Electroencephalogram (EEG) measures the activity ol :

{1} Brain {2) Heart (3) Lung (4) Kidney
sopTgRdeam (€ § o fre o @ st @ A & 7

(1) (2} &=T (3) Bwsl (4} 7o
Fish is the rich source of dietary :

{1} Protein (2) Carbohydrate (3} Fat (4) Vitamins
IER A Tee fhwe U v W 87

(1) W= (2) FHEETERT (3) T4 (4y frefa=
Sphygmomanumeter is the instrument used for the measurement of :

{1y Hemoglobin content (2) Blood pressure

(3) Blood cell count (4) Pulse rate

Rermirieirier o= @ = A o & 7

(1) EWrARE $) A (2) =8 WIR

(3) v SRRFN & wWE (4} UeH T

Which of the following vitamin is essential for blood clotting ?

{1} Vitarmin K (2) Vitamin E (3 Vitamin C (4) Vitamin D
foret ¥ R P frefAm vaa @ S | were B B 7

{1y = = (2) fazifm € (3) faerfe @ (4) faerfm &

Which of the following white blood cell is presenl in minimum percentage in
the blood ?

{1) Eosinophil (2) Lymphocyte (3) Basophil {4) Monocyte
ﬁmﬁﬁﬁh-ﬁﬁamaﬁwmﬁmgﬁmﬁmﬁmﬂqﬂ%?
(1) gEfeaied (2) fermraEc (3) JEfHa (4) ArFTETET
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82,

83.

84.

87.

Hypathalamus is the part of ;

{1} Heart 2) Brain (3) Lung (4) Kidney
srgudenre fRew A @1 w2 2

(1) &=4 (2) sf¥rss (3) Bwe (4) gF
Teeth involved in chewing the food are

(1} Incisor and Canine i (2) Incisor and Premolar

(3) Canine and Premolar (4) Premolar and Molar
WA Y T 2 B & Henrm e B 7

(1} &TaEor T Perg (2) TTETEe™ T fmeR

{3) #Mz 7 Meew (4) Wniow 7 Ao
Ligament connects :

{1} Bone to bone (2) Bore to muscle

(3) Skin to muscle (4) Muscle to nerve

fermie Srgar 2 -

(1) wfter 3 afde (2) oty =) miwdd &

(3} == = " Y (4} #eush B afE @
Structural and functional unit of kidney is :

(1) Glomerulus (2} Loop of Henle

{3) Malpighian body {(4) Nephron

I N TS 77 s e §

(1) =mrees (2) o ¥E TS

(3) d=faferos Jf (4) =i

The only flying mammal is -

(1) Porcupine (2} Bat

(3) Duck-billed-platypus (4) Monkey

7= F & e s sar § o 22

(1) dfeegurs= (2) TS

(3) so-fRvs-ofemw 4) T=%

Which one of the following is a non-poisonous snake ?

(1) Krait {2} Cobra (3} Viper {4) Dhaman
Fei 4 & .37 | et T8 -

(1) (2) (3) aTm (4) enf

(18)



91.

§2.

83.

14UM13/10(Set-l)

Plants that grow in saline water are called :
(1) Halophytes {2) Hydrophytes {3} Mesophytes  {4) Thallophytes
AR et § g oe deit @ @ e | 7

(1) EereETSed (2) EIEgmIEeE  (3) #AHEEA (4) FerergEw

Edible part of a potato plant is:

{1y Bud (2) Root . {3} Fruit {4) Stem
aTe @ O B @ AFT ATt @ @ 7
(1) Bl (2) 53 (3) e (4) T

Which of the following is a plant hormone ?

(1} Insulin (2) Thyroxin (3) Oestrogen (4} Cvtokinin
Prfarad § @ S-81 03 TRY § 8 7

(1} zgfer (2) omsifama (3) FECIT (4) HETEF
The twa Mughal rulers who reigned the Jongest were :

(1) Aurangzeb and Shah jahan (2) Akbar and Shah Jahan

{3) Akbar and Aurangzeb {4) Akbar and Jahangir

R T AEE ] e BT w4 A

{1) aM¥rorg iR el (2) rmae AT FEE

(3) spex AR NPT (4) wwmus AR FEOMR

Salt Satyagraha was part of which movement ?

{1} Non-cocperation (2) Civil Disobedience

(3) Sarvodava {(4) Quit India

o GeTuE [ R @ e o ?

(1) SEETH AR (2) Them adsn s

{3) Fafeg w=ye (4) TG TR HTRI

Which Mughal Emperor was defeated by Sher Shah ?

1) Akbar {2} Humayun {3} Babur {4} Aurangzeb
= g wATE A g GO & 7

(1) ¥R (2) g (3) W (4) T

(19) P.T.O.
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94,

95.

gﬁ#

87,

98.

The following statements about foriegn travellers are either True or False :

(a) Marco Polo was from Morocco. (b) Francois Bernier was from | taly.
{c} Ibn Battuta was from Portugal. (d} Al-Biruni was from Spain.

Based on the abave, which of the following options is correct ?

(1} a. True, b. False, . False, d. False (2) a.True,b. True, ¢. True, d. True

{3) a. False, b. False, c. False, d. False (4} a. False, b. False, c. True, d. Faise
et o & ar & Prefefm woum @ o 9@ & o mee

(a) ATRT oteh Ay @ o) (b) Wit affR g=d @ umy
{c} T SN GTA F e (d) are-faw &= 9 a1

S Y g7 Fu7 # wrn, Prafifye Rowt 4 @ g w2 7

{1) a. ¥, b. AT, ¢. T4, d. Tad (2} a. ¥, b, T8, ¢. T, d. @1
(3} a. T, b, 7T, ¢, e, d. TS (4) a. 3Ted, b. T, €. WeD, d. 1414,
With which of the following are ‘Khangahs' and 'Silsilas' associated ?

{1} Kabirpanthis {2} Sufis {3} Sikhs f4) Wahabis
Fretforftad & @ fFem @ R Ryafiray w=fam 2 2

(1) Fdeh (2) T (3) R (4) word
Which of the following events occurred first ?

(1) Russian Revolution {2) Chinese Revolution

(3) French Revolution (4) American War of Independence
Rrrffae # Q@ P weer gea gf 7

(1) =t afy (2y At wifs

(3) W= FRe (4) 3O T Fum
European Renaissance started first in :

(1} Russia (2) England {3) France (4) ltaly
R geeTRer w7 gan ?

(1) wa (2) F#vg (3) W (4} sToi

In which region did the Birsa Munda revolt take place ?

(1} United Pravince (2} Bihar

{3} Maharashira (4) Kerala

fRen a1 @1 e fvr s % gam a2

(1) Fees R (dgae ) (2) Rere

(3) HETITS: (4} v

(20)
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Wha is the author of "anerty and Un-British Rule in India™?

{1) M.G. Ranade (2) R.C.Dutta

{3) Dada Bhai Naoroji (4} G. K. Gokhale

gad g sAfftn s g Rer s dmm AN E ?

(1) THe Site IS (2) ¥Ro o Tl

(3) =21 e AR (4) o FHo TS

Who founded "Satyashodhak Samaj" ?

(1) Jyotiba Phule {(2) B.R. Ambedkar

(3) Ramaswarmny Niacker (4) Narayan Guru
FEIU® WA @ HRIaE H o 7

(1) omferar me (2) Fo FRo FEHT

(3) YT ATge (4) "W T

Where did the Revolt of 1857 begin ?

(1) Bareilly {2} Lucknow {3) Meerul {4) Thansi
1857 &1 fasT® F21 I g =0 ?

{1) sl (2) TETE (3) #%T (4) iR
Who was the leader of Kakori train conspiracy ?

{1} Ram Prasad Bismil {2) Bhagat Singh

{3} Barkatullah {4} Batukeshwar Dutta
FHN ¥ B 6 K e fear ?

(1) M e faftma (2y WA T

(3) FPTE (4) TLFTR A

Wha established the Hindu Mahasabha ?

(13 Motilal Nehru (2) Madan Mohan Malviva
{(3) Chittaranajan Das {4} Te; Bahadur Sapru
fewe, mgmenT B fares wnftia foram 2

(1) A T (2) ¥5A AgA AR

(3) SrcreTe TTE (4) q FETGY HY

(21) PT.C.
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104. When did India first participate in the Olympic Games ?

srefeTs et o WA Y ool 9R w4 o Ry wn
(1) 1914 (2) 1920 (3) 1924 (4) 1928

105.  Which of the following Viceroy established railways in India ?

{1} Curzon {2) Dalhousie {3) Mountbatten {1} Dufferin
freafofm & & foa armaeg ¥ wre & Yo &Y wemer & 7
(1) T {2) sFEm (3} =ETdeEA (4) BHR=
108. East India Company fought the Battle of Plassey against :
(1) Mir Kasim (23 Ahvardhi Khan
(3] Siraj ud Daulah {4) Murshid Quli Khan
feus freg dw siem =t 3 <Rl &1 gg d= wr ?
(1} ¥R Hfam (2) arefadt @
(3) favigggrem (4} Atz i @t
107.  Who was the editor of Al-Hilal newspaper ?
{11 Mubhammad Al Jinnah (2) Igbal
(3) Badruddin Tayabiji (4) Abul Kalam Azad
I-fede ST & g 6 o ?
{1) Arerre el R (2) goare
(3) @ewed dagar (d} IgA FAH HR
108, Where was the headquarter of Theosophical Society in colonial India ?
(1) Varanasi (2) Adyar {3) Bangalore {4} Allahabad
AR TE A e aagd o geran w2t o ?
(1) areeredt (2) srguw (3) TR {4) soTETeTe
109.  Where was Guru Gobind Singh born 7
{1) Lahore (2) Pama (3} Amritsar {4} Rawalpindi
TS M=z e @1 9T @ef gam ey ?
(1) A= (2) we (3) sy (4) IrEwRd

(22)
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114.
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Which place is associated with the 'Asiatic Soaety’ ?

(1) Mumbai (2) Chennai (3} Delhi (4} Kolkata
-9 wrR TRmfrs Sagdt | d9g 2 7

(1) 73 (2) (3) fR=h (4) FroTHE
Which state is associated with Tanjore Paintings ?

{1) Kerala (2} Andhra Pradesh

{3) Tamil Nadu {4) Odisha

FH-T1 ¥ dwiR e | HeE € 7

(1) @¥a (2) Y RE

(3) afterrg . (4) anfem

Qutubuddin Aibak belonged to which dymnasty ?

{1} Tughlag {2) Ghulam (3) Khilji {4) Lodhi
Hgge™ tae fea oEw § g3 A ?

(1) gres (2) ™ (3) fgeran (4) <ird
Name the scripl used in most Ashokan inscriptions.

1) Devanagan {2) Kharosht {3) Brahmi (4} Prakrit
aE @ Ty e frg fafr # € 7

(1) Searrd (2) w=d (3 wedt (4} WA

What is Ashtadhyayi ?

{1) Bharata's work on drama

(2} Kalidasa's Sanskrit play

{3} Purana

{4} Panini's work on Sanskrit grammar
sreTeardt @@ § ?

(1) #=T o7 ACaeA

(2y wifeRTH Fa TEpT TS

(3} g¥m

(4) Wwpa EeEr ov o @ o

The Varaha is considered avatar of :

{1} Shiv (2) Durga {3) Vishnou (4) Brahma
o frey 3 ¥ FreTdT sar AT O 8
(1) Rra (2) g (3) fawy (4) aEm

(23) _ P.T.0.
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116.

117,

114.

119,

120.

Coins issued by the Gupta dynasty were made of which metal ?

(1) Only Gold - (2) Gold and Silver
{3) Gold and Copper (4) Gold, Silver and Copper
TS 991 gT o) f3g 0 e fewm ag @ e 29 2

(1} #ad | (2} w1 T HiE

(3) HF g dfm (4) | =T T dfar

According to Jaina tradition, how many Tirthankaras preceded Mahavira ?

I TERT & AR, FETER @ UEe fha defaw gy ?
(1) 22 (2) 24 (3) 23 4 20

Which of the following contains the odd name ?

(13 Babur, Akbar, Shah Jahan :

{2} Sarojini Naidu, Aruna Asaf Ali, Kamaladevi Chattopadhyay
(3} Udham Singh, Bhagat Singh, Jagat Seth

(4) Bijapur, Golkunda, Ahmednagar

frrfafiaa & & famrd e o m 2 2

(1) SR, HEIT, MEore]

(2) Tferh g, arewn amew ol FEmedt B =i

(3) T Rz, v fig Jme 9

(4) TR, TEHE, FEHTTR

Who among the Indian kings defeated Muhammad Ghori first 7

(1) Prithviraj Chauhan {2) Jaichand

(2} Vidyadhar Chandel (4) Bhimdev II

Frfefam #dfra wromel & & fred migee M9 =1 ted WISt B 2

(1) gudiera S (2) waa—

(3} fBemr T2 (4) #ragg 11

Which religion does Mahayana philosophy relate to ?

{1} Jainism (2) Buddhism {3} Vaishnavism (4) Shaivism
HEMNH ST e ud | wafg 2 7 :

{1y 39 i (2) dvg o (3) dwrg o (4) fz o

(24)
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SECTION - I
Language - English
(For Candidates Opting English Language}

Note : Four alternatives are given as possible answers to each question. Give the correct choice
as an answer.

Dirertions : (Q. No. 121-124) - Select the word nearest in meaning of the given word .

121. Hypocrisy:

(1Y retirement (2) sweetness (3} enterptise (4] prelension
122, Drap:

{1} bum {2) tolerate {3) pull {4} decrease
123. Brag:

(1) swim {2) boast (3] beat (4) hoist
124. Feeble:

(1] weak {2) strong (3) hot {(4) simple

Directions : ((). No, 125-128) ; Select the word opposite in meaning fo the given word :

125. Robust:

(1) effulgeni (2) dull (3) basic {4) energetic
126. Kind:

{1) ruined (2) flexible (3) friendly {4) nasty

127, Optimistic :
(1) realistic {2) fantashc (3) egoistic {4) pessimiskic

128, Affluence:
(1) poverty {2) prosperity (3) superiority {(4) availability

Directions : (). No. 129-132) : Choose the explanation that catches the spirit of the idiom
given in each gieestion :

129, In the nick of time:
{1} at the outset (2} at the very last moment

{3} at lunch time (4) atnight
(25) PTO.
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130.

131.

132

As the crow flies :

(1) as you like (2) by an indirect route

(3} as and when required (4) in a straight line

Get the hang of :

{1} get the main idea (2} utilize the last moments

(3) hang something outside {(4) postpone something

Play havoc:

(1} play the fool {(2) create a conducive environment
(3) do great damage to (4) play exceedingly well

Directions : (Q. No. 133-136) : Select the right word to fill in the blanks m the given

sertitences |
133. Shehas .. disclosed it.

(1) vet {2} never (3) then (4) vyesterday
134. Heis...coo than L

(1) elder (2) old (3) eldest (1) oider
135. He ............. your letter yesterday.

{1} has received (2) bad received (3] received (4} would receive
136. India.......... the cricket match.

{1} has won {2) have won {3) wins . (4] had wun
Directions : (. No. 137-140) : Select the part of speech of the underfined word in the gen
senlences :

137. He came here.

{1) transitive verb {2} intransitive verb

(3} auxiliary verb {4) rmodal verb
138. She ran fast.

(17 noun (2) adjective (3) adverb {4} determiner

(26}
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139.  We played well.

(1} Adverb of degree (2) Adverb of manner

(3} Adverb of frequency (4) Adverb of reason
140. [don't object to your coming late.

(1) present parliciple (2) past participle

{3} gerund {4) finite verb

Drirections : (Q. No. 141-144) : Select the correct plural of the given word .
141. Have - not:
1) haves - not (2} have - not {3} have - nots {4y had - nots

142, Barteria:

{1) bacterium {2} bacterias (3) bacteriums {4) bacteria
143, Axis:

{1} axis (2) axes {3) axises {4) axies
144, Welf:

{1} wolls {2} wolfes {3) wolves f4) wolvse

Directions : (). No. 145-147) : Select the word which has been wrongly spelt

145. (1) comparision {2} supervision (3) provision (4) unison
146. (1) puncluation (2} accumulation (3} pronounciation (4] derivation
147. (1) bnief {2) concieve {3} thrive {4} shrick

Diirections : (Q. No. 148-130) : Fill in the blanks with the correct word/group of words :

148. It has developed .o more than a mere camping ground.

{1) fairly (2) many (3) much (4] wvery
149, lam ..o fOr this mishap.

(1) tebeblamed (2} toblame (3) blamable (4) blameworihy
150. He,aswellas], ... going to Allahabad.

(1) am (2) are (3] 1s {4) were

B P T.O
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151.

152,

153.

134,

155.

156.

157.

158,

159.

160.

SECTION -1l
wog — i
HET - fa—=<
(= o aret iRt @ fag) |
: Frm oY pEEl F gn-Fw dPioud onv ford w4 # fow HEY 9vW B9 U B4 39
#eft gav @ gy
Trafe wa & sgay st 2
(1) = 2y fr (3) ™ (4) AR
FA e B e g % fare B wemam @ gemE et ?
(1) 3w (2) am (3) 34 (4) 2
ART-TT A BF-H] GAE £ °
(1) fam (2) THURT (3) =gdife (4) &%
TImyE O P e & 7
(1) HHRIEY (2) wgAfe (3} sy {(4) ey
Frfafisg § ¥ -9 g aemm & 7
(1) I3 (2) =@ (3) =A (4) ¥d
fafofea § 9 T5ve me S 2 7
(1) TH (2) T (3) ¥ (4) e
Y& T am g ?
(1) wnfy (2) verh (3) 3 (4) verrd
e I @ T e
(1) arrai= (2) =TT (3) I=ngt= (4) e
Prafafiaa 8 ¥ 9 v 787 2 °
(1) (2) @ (3) = (4)
o gvi A fas woit @1 g & 2
b g e (2) & + ¥ (3) ®+9 (1) & + 3

(28)
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162.

163.

164,

185.

166.

167.

168.

168.

170.

171,

o8 | FIH-W Mg HqaTgE TS B 7

14UA1310(Set-H)

(1) =R (2) weaftia (3) wmfs (1) TEwE

fr=fefigg & & - v afeaams s & 7

{1} T (2 wETe (3} T4 {4) ™A

z Y @ goigard £

(1) =i (2) faeE @) '™ () g

Wl wHA T oatagEy 9# O#

(1} wfr= (2) ¥ (3) ¥¥R (4) I

A @ fdel 2 -

(1) o=@ (2) nfrg (3) siferea (4) famg

ifers @1 ad 2

(1) gwe form T (2) TE A

(3) ST | g g (4) = 3@ FF # T B

oo MR W A 5@ AT F oot @

(1) =ga gif1 B (2) gt B

(3) 9ga afewa g (4) Frre &

ot fFd T SR &1 ATl & 9] 9 @ 2

(1) s (2) g (3) WET (4) Faw

fadT IuaR 699 9 8 999 fon Sitd TR 2

{1) (2) ARy (3) WIS (4) HNHHT

nRdm d@wm R mem T g ?

{1} T | (2} T (3) TraTHTET (4) =T

wrafTee e vy o forgy mm & 7

(1) AT (2} Ao (3) @& T (4} araed
P.TO.

(29)
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172.  gonad e g & 2

(1] YEHEH {2y T (3) T T (4) Fool ETEA
173. 77 9 o4 dfdea &1 #fa 587 & 7

(1y fa=rd {2) =g (3) u-A (4y wfawm
174, fEaQ 7 61 AHGRE fHUS A o g B 7

(1} sf=firy fRad (2) B T R

(3} 71 5T (4) TEEN wEE B4
175. @ yeador Dudg gror o A & 7

(1) g {2y forden (3) HaHeA (4) ¥y
176.  qrorft sl @ foy am & gaw1 o & 2

(1) &t Hf (2) forg =ft (3) =T wA (4) w1 wY
177. gw fFas) v9qr 2 7

(1) g=meEs aa (2) #Rafty (3) HereftyRer T (4) wwrs
178, oftrg Mawmer @ =o ® o= ufag 2 2

(1) 7R maE G (2) TdE g

(3) vgrrE=< ™ {4) T wag fEed
179. 2 R T Bf2 B AT o @ 2 '

(1) o (2) AT (3) wftait (4) wzidEr an
180. ‘frymufieer & vo9memn 2

(1} ®HTE™ (2) gerdETg (3} HX<E (4) Team™

(30}
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sy @ fore frdw

{g9 o & WM ATROgE W a SAeUA & I g€ W dan Adherd! aekarge o O A fina)

1.

2.

3.

10.

11.

12.
13,
14,

we gRamr fem @ 10 e & omex & dw o & wvea § Wi e dig # ik @
o gl E B | et SWge U oM R gEa gae aod a8 Pl o gew
Aot grAas A gE gfTe wr e o |

Tl waA X forerer vRT mdw.eF @ gfRen, fomr w wE wE W g FT
|y AT o |

ITR-UF T A w2 39 o a 7e elv 7 & Reg w0 govr vovys T8
37 S #ae Sav.ua o & e far wrbm

AT HIFEAIE AU UOV-F FT HHe FYT FEAORTW v ¢ & feiRo wem
e ford |

. UTICHE @ HUH §9 T 47 @ 9T JgpAE i wirr gv ford aen 7 R4 g

@ MET w¥ 71 wEf-aE gravyw § agf wvA.gRaeT %1 mEie aur e &1 TN
afrT v we ford

Ao THo YRo U W ITHAIG AT, we-gfedr §=0 7 ¥ wan (4 @ ) aen
-GS @7 g HEW o dle (Ho Ao UF W Y giafed F vl @)
A € 2

S wfifedt ¥ a f WRadw ww s g waftg e oA apmen wE s

FMIA AR &1 WA AT AT

. v gRee ¥ ge w3 AR dwfeus s R M ¥ | 1T mvr # dofw e 2

ferd syt wTe-gF ¥ WAfa v 3wt R 7 g B govy @ gew ye O
fd w frdt @ argere 97 ° wgT BT By

. IS 59 @ S @ forll 39d v B 39 B TR Y ue @ ol get @ mar e

U AT UB g A7 IOl W X AE TOR T AT A

ey & & ve o W g sfda oow asar a8 o7 wear 24 aft amw il e
T IR @ W wed & @ watua ofwr @ e R ) wh oo o at e 2
SRS o e A Coo e o

oEM # R 3w qRaw @ qEys @ o o g g dfm @l ym o
qInT F |

Tden @ IWIH PIA Hlo THo Yo TEETF A when Ta- ¥ = HY
ﬁmwﬁ-ﬁﬁﬁﬁwﬂmmﬂmﬁmuﬁﬁnﬁqﬁm|

it g wpadl odien A s WA &1 SO avan & a1 e PreeRrenem mwn PR
T8 W& A BT/ @l



